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Section A 1 mark each

Q.1 (sec’® —1) (1 -cosec’0 )=

Q2 cot?6-— 12 =
sin“ 0

Q.3 Given that sin0 = E, then cos 0 is equal to

Vb? - &?

b b a
a) —— b) = c d) —
T Y 9 N
Q.4 If sin — cos® = 0, then the value of (sin* 6 + cos* ) is
3 1 1
a)l b)= c)= d)=
(a) ( )4 ( )2 ( )4
Q.5 Eualuate(l + cot 0 — cos0)(1 + tan6 + sec0)
X2 y2
Q.6 Ifx=a secocos@;y=b secosin@andz=ctan6, then — +b_2=
a
z? z? z? z?
Q.7 If cosA +cos’ A = 1, then sin® A + sin’A=
(a)1 (b)O (c)1 (d)2

Section B 2 marks each

0 : 0
Q.8 Prove that sec72 +Sm59 =2

cosec18’ cos31°

Q9 Ifsin20=+/3,find 6
Section C 3 marks each
Q.10  Prove that cos® —sin® =~/2 sin0,if sin® + cos 6 = +/2 cos ®

Q.11 Prove that tanf+secO-1 _ secO +tano

tan0-seco+1
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Section D ¢ marks each
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Q.12 If acos®0+3cosOsin?0=ma sin®0+3acos?0sind =n,

Prove that(m+n)*/3 +(m+n)?/3 = 2a?/3
1 1
Q.13 If secO® = x + —, prove that secO + tan6 = 2x or —
4x 2X

Paper prepared by - Dev Anoop
Teacher St. Joseph’s Convent School Bathinda Email: devanoop@devanoop.com

Also Visit
cbse.biz,
cbseresults2009.com,
cbseresults2010.com,
cbsemathspapers.com,
cbsesocialscience.com

cbsemath.com -CBSE Sample Papers 2010


mailto:devanoop@devanoop.com

